
Lease Payments in “Perfect Market” 
 
) If  you buy an asset for $100, 00 today and sell it for $30, 00 in 7 years, what1 0 0    
ould you have to charge as a monthly lease rate in a perfect market? Interest ratew  
s 6% with monthly compounding. Lease payments are made at the beginning of  eachi  
onth.m  
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Selling Price of Asset in “Perfect Market” 
 
) How much would you have to sell an asset for in 5 years in a perfect market if  you2  
uy it today for $50, 00 and lease it every 3 months for $2, 14 for 5 years? Interestb 0 5  
ate is 8% compounded quarterly and the lease payments are made at the beginning of  r  
ach quarter.e  
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Lease Timing Differences Part 1 (Straight Line Depreciation) 
 
) Y ou are debating whether to buy or lease a machine. Y ou can buy the machine for 3  
3.2 million. It will depreciate straight line for 4 years to a salvage value of  zero.$  
lternatively, you can lease the machine for $900, 00 a year for 4 years. LeaseA   0  
ayments are tax deductible and made at the beginning of  each year. Tax rate is 40%p  
nd the discount rate is 7%. Should you lease or buy? What is the breakeven leasea  
ayment?p  
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Lease Timing Differences Part 2 (CCA Depreciation) 
 
) Y ou are debating whether to buy or lease a machine. Y ou can buy the machine for 4  
3.2 million. It will depreciate with a CCA rate of  20% for 4 years to a salvage value of$  
ero. Alternatively, you can lease the machine for $900, 00 a year for 4 years. Leasez   0  
ayments are tax deductible and made at the beginning of  each year. Tax rate is 40%p  
nd the discount rate is 7%. Should you lease or buy? What is the breakeven leasea  
ayment?p  
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Lease Timing Differences Part 3 (Range of Lease Payments) 
 
) A lessor buys a machine for $120, 00 and rents it out to a lessee for 4 years. 5 0  
he machine has a CCA rate of  100% and will have a salvage value of  zero at theT  
nd of  4 years. The discount rate is 7%. The lessor and lessee have tax rates of  35%e  
nd 10% respectively. Lease payments are tax deductible and made at the beginning ofa  
ach year. e  

 
) What range of  lease payments will make the transaction prof itable fora  
oth parties?b  

 
) At the lessee s break even lease payment, what will be the gain to theb ′    
essor?l  

 
) At the lessor s break even lease payment, what will be the gain to thec ′    
essee?l  
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Solutions 
 
) $1166.771  

 
) $11, 922 9  

 
) Net Advantage to Leasing  − 43, 17.47 therefore buy.  (see excel sheet)  3 = $ 6  

 

 
reak even  lease payment  881, 94.91  (see excel sheet)B = $ 1  
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) Net Advantage to Leasing  $9, 96.50 therefore lease.  (see excel sheet)4 =   2  

reak even lease payment  904, 08.06  (see excel sheet)B = $ 0  
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a)  lease payments between $32, 81.72 and $32, 03.56 (see excel sheet)5 3 9  
 
Lessor breakeven 

 
Lessee breakeven 
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b) at a lease payment of  $32, 03.56, the lessee will break even and the 5 9    
essor will gain $1, 00.54 (see excel sheet)l 3  

 
c) at a lease payment of  $32, 81.72, the lessor will break even and the5 3    
essee will gain $1, 29.43 (see excel sheet)l 7  
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